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.2) A communication satellite is located at an elliptic orbit, huvh;
The major axis of the orbit is 32.400 miles long and its minor axis is 24,8
equation of the orbit and its graph showing the position of the Earth. Ass|
“x-axis® and the center is at the origin
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3) A parabolic arc witl
or of 15ft. Determine the
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h a vertical focal axis has wideness in its base ©
equation of the arc, assuming that its vertex is at!
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5) In 1935 Charles Richter defined the magnitude of an e
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where | is the intensity of the eanhquake (measured by the amplitude of a
100 km from the epicenter of me earthquake) and S is the intensity of a "
(whose amplitude is 1 micron =10 cm) t1-0\
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Sketch the graph of the magnitude of the Ricther scale as a function
earthquake. Use the graph to find the intensity of the three most recent

occurred early today. November the " (6.0
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